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Math 112 QlllZ 6 1 6 2 6 3A show any relevant work.

1. Find two angles one positive and one negative that are coterminal with —=
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2. For each angle below, change degrees to radians and radians to degrees:
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3. Ifsinf= ~5~ and cos ¢ <0, find the value of the other 5 elementary trigonometric
functions at 6. Draw a sketch with appropriate reference triangle. Sin 2§ @t
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4. Find the exact value of each of the following. Include a circle sketch and reference
triangle.
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5. A central angle 6 of a circle of radius 6 is subtended by an arc of length 15. Find the
measure of € in both radians and degrees.
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6. A sector of a circle with a central angle measure of 57/4 rad has an area of 8m?”. Find
the radius of the circle. 5T
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7. A ponderosa pine casts a shadow of 160 Tt on level ground when the angle of elevation
to the sun is 34°. How tall is the tree? X
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Bonus Question: The wheel of a bicycle has a radius of 15 inches and is rotating at
250rpm. How fast is the bicycle travelling in inches per minute?

In miles per hour?
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